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Note : Attempt questions from each section as directed. 

SECTION—A 

(Long Answer Questions) 

Attempt any two questions from this section : 2x20=40 

1. What do you understand by national income at 

constant prices ? Describe different methods of 

estimating national income. 

2. What is economic welfare and how is it 

measured ? Why is GDP a poor measure of 

economic welfare ? 

3. What are different kinds of consolidated accounts 

of a nation ? Discuss consolidated accounts of 

India. 

4. Define flow of funds system of accounts. Why is 

flow-of-funds system of accounts considered as 

the most comprehensive accounting system ? 
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SECTION-B 

(Medium-Length Answer Questions) 

Answer any four questions from this section. 
4x12=48 

5. What is investment ? How do you measure 

investment ? Differentiate between gross and net 
investment. 

6. Define disposable income. How do you compute 

Gross National disposable income ? 

7. What do you mean by national capital ? Point 
out its composition. 

8. Explain the concept of services sector. What are 

its components ? Point out its importance in a 
growing economy. 

9. Briefly state the relationship between investment 

and growth. How is investment measured in 
India ? 

10. Explain the following concepts : 

(a) Social Development 

(b) Physical Quality of Life Index (PQLI) 

(c) Human Development Index 

(d) Gender Related Development Index (GDI) 

EEC-10 	 2 



SECTION-C 

(Short -Answer Questions) 

Answer all questions from this section as directed. 

11. Distinguish between any two of the following : 
2x3=6 

(a) Stock & Flow 

(b) Income and value-added method of 
estimating national income. 

(c) Organised and Unorganised sectors 

12. Define any three of the following : 	 3x2=6 

(a) Human Poverty Index 

(b) Public Enterprises. 

(c) Registered Manufacturing. 

(d) Intermediate goods. 

(e) Non-financial flows. 
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